
Výsledky – 5. týden (28.4. – 4.5.) 

UČEBNICE: 

37/2 

1) PŘÍKLAD    7) slimmer than 

2) taller than    8) better than 

3) younger than    9) longer than 

4) funnier than    10) wavier than 

5) colder than    11) straighter than 

6) shorter than    12) worse than 

 

PRACOVNÍ SEŠIT: 

22/1 

1) older     6) more difficult 

2) faster     7) better 

3) hotter     8) worse 

4) friendlier    9) prettier 

5) more interesting 

__________________________________________________________________________________ 

 

Výsledky – 6. týden (5. – 11.5.) 

UČEBNICE: 

38/5 

1) As….as 

2) As….as 

38/6 

1) Steve is not as strong as Jim. 

2) The Grand Hotel is not as good asthe Palace Hotel. 

3) Canada is not as big as Russia. 

4) Britain is not as hot as Spain. 

38/7 

1) PŘÍKLAD 

2) Mike is not as short as Jack. 

3) His hair is not as long as his sister´s. 

4) Sue is not as old as her brother. 

5) Your mother is not as old as my grandmother. 

6) Jeff is not as good-looking as Tom. 

_______________________________________________________________________________ 



Výsledky – 7. týden (12. – 18.5.) 

PRACOVNÍ SEŠIT: 

 

22/2 

1) Prettier than 

2) Heavier than 

3) Taller than 

4) More intelligent than 

5) Older than 

6) Faster than 

22/3 

1) PŘÍKLAD 

2) Scotland is colder than Sicily. 

3) Chinese is more difficult than English. 

4) Jennifer Lopez is prettier than Madonna. 

5) Football is better than voleyball. 

6) Horror books are more intelligent than detective films. 

22/4 

1) Car A is more modern than car B. 

2) Car A is slower than car B. 

3) Car A is smaller than car B. 

4) Car B is faster than car A. 

5) Car B is more comfortable than car A. 

6) Car B is more expensive than car A. 

23/5 

MOŽNÉ ODPOVĚDI: 

1) Alan is as heavy as Oliver but Oliver is younger. - Oliver is not as old as Alan. 

2) Oliver is as tall as Maggie but Maggie is younger. 

3) Maggie is not as heavy as Oliver. 

4) Maggie is as heavy as Ally but Ally is older. - Ally is not as tall as Maggie. 

5) Ally is older than Sandra but Sandra is heavier. - Ally is not as tall as Sandra. 

23/6 

1) PŘÍKLAD 

2) Finland isn´t as hot as Greece. 

3) Hungarian  isn´t as easy as Spanish. 

4) Victoria isn´t as friendly as Natasha. 

5) The hotel in Rome was not as good as the hotel in London. 

 

 



23/7 

1) better    5) better 

2) more interesting  6) more thrilling 

3) more exciting   7) as interesting as 

4) worse    8) as good as 

 

24/ cvičení nahoře 

1) PŘÍKLAD 

2) is more dangerous 

3) more dangerous 

4) is more expensive 

5) more expensive 

6) is better 

7) better 

 

24/1 

1) deeper 

2) deeper 

3) darker 

4) more exciting 

5) more dangerous 

6) worse 

7) more terrible 

8) faster 

 

 


